1 Library isese;
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z Use ieee.std logic 1164.all;

Tarlk is

2 Entity

4 PFort ( D : In Bit:

=] 8 : In Integer Range 0 to 3;

& ¥ : Out Bit Vector (3 DownTo 0} );
7 end;

2 Architecture Behave of TarkZ is

9 Eegin

10 ¥(3) == D When 3=3
11 ¥Y{2) <= D When 53=2
12 ¥(1l) <= D When 5=1

13 ¥{0) <= D When 3=0

Else
Else
Else

Else
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Library ileees;

Use ieee.std legic 1164.all;

Entity TarB is

Port {( E, Rat, T :
= 5

end;

Architecture Behawve of TarB is

Signal =sig Bit;
E=gin
Process (E, Est)
Begin
If Rst = "1" then
sig <= "0";
El=sif E'event and E="1" then
if T = '"0' then
sig <= sig;
Elsif T = '1"' then
sig <= not sig;
End 1£;
End 1f;
End process;
q <= sigj
End Behave;
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14 Elsif E'event and E='1" then .X

E 7271 lyw Ny

10 Process (E, Rst) fal
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CLOCK 5 5
D_FF D_FF D_FF D_FF
E ©Q E ©Q E Q E Q
SIC>—D D D
Q3 Q2 Ql Q0
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T80T 21070 P2 N0 T PORT MAP nmipad vnnen - (COMPONENTS)
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Library ieee;
Use ieee.std_logic_1164.all;
Entity D_FF is
Port (E. D : In Bit ;

q :OutBit );
end;

Architecture Behave of D_FF 1s

Begin

Process (E)

begin

If E'event and E ='1" then
g<=D,

End If:

End Process;

End Behave;
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entity shift register is
port (
clock:in bit;
SI:in bit;
g:out bit vector (3 downto 0)
)

end;
architecture reg of shift register is

component D FF
port (E,D:in bit;
g:out bit);

end component;

signal x:bit_vector (3 downto 0);
begin

u0: D FF port map
(E=>clk,d=>SI,g=>x(3));

ul: D FF port map
(E=>clk,d=>x(3),g=>x(2));

u2: D FF port map
(E=>clk,d=>x(2),q=>x (1)) ;

u3: D _FF port map
(E=>clk,d=>x(1),g=>x(0));

g<=x;
end reg;
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: VHDL nawa n1wn2a , TarC mm0na Jnaz

Library isees;

Usae iece.std logic 1164.all;
entity TarC is
generic ( bits : integer : = 4);
port {( elk, si : in std logic ;
b= : buffer std logic wector (bits-1 downto

end;
Lrchitecture behave of TarC is
Esgin
Process (clk)
begin
if rising edge(clk) then
g <= 3i & gibits-1 downto 1);
end if:
End process;

End behave;
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E generic

(

bits

integer

= 4);

NTTN MIXRN bits=4 XNAIT2 ,0'2102 YTAINN WD 'Y YA 273 77112 n1an 10NY C'woNn

nro 4 71

clk si q3 q2 ql q0 NXIN2 NNWY Y
0 0 0 0 0 0
1 1 0 0 0 8
al 0 0 1 0 0 4
1 1 0 1 0 10
1 1 1 0 1 13
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